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QUESTION 1

Which of the following statements about the electrical-layer overhead processing - source function are correct?
A. The OPUk performs client signal mapping, frequency adjustment, and rate adaptation in the transmit direction.
B. The ODUKT calculates the BIP-8 and writes the it into the TCMi.

C. OTUK calculates BIP-8 and writes it into SM, GCCO, FAS, and MAFS.

D. The ODUKP calculates overheads such as BIP-8, PM, and GCC1/2.

Correct Answer: C

QUESTION 2

Which of the following ROADM boards have WSS optical modules?
A. RDU9

B. WSM9

C. WSMD9

D. WSD9

Correct Answer: B

QUESTION 3

Dispersion compensation is not required for 40 Gbit/s and 100 Gbit/s coherent systems because the dispersion
tolerance of coherent boards is large. NG WDM products do not support hybrid transmission of non-coherent and
coherent networks.

A. True

B. False

Correct Answer: B

QUESTION 4

The causes of discrete services are as follows:

A. The cross-connection configuration on the NE is incorrect.

B. The logical fiber connection of the NE is inconsistent with the physical fiber connection.

C. The configuration data on the NE side is not uploaded to the U2000.
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D. A subnet service whose source or sink port is not in the management scope of the U2000 is available.

Correct Answer: C

QUESTION 5

In a WDM system, after a distance of transmission, the OSNR of the signals at the receive end decreases to a certain
extent. Which of the following is the main cause?

A. Use of EDFA

B. The fiber attenuation is too large.
C. New optical fiber is not used.

D. Use of Demultiplexer Multiplexer

Correct Answer: B
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